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(¥F) T& ¥ F1? [What is free vibration?]

(%) @°M 77 F? [What is Apse point?]
(°) (T I FICF A2 [What is called central force?]

(9) Ty @IS F 2 [What is moment of inertia?]
(&) @I BACICoIF Feeal WIS | [Define angular momentum. |

(B) S-S (e R ? [What is damped forced oscillation?]

(®) TEAEIRNS ARl F&F A2 [What is called Holonomic
constraints?]

(&) fC-9arRGa Tfefs &4 | [Write down the principle of D’
Alembert.]

() FEF WIS AT 9 | [Define effective force. ]

() TFIA ARG FNE IA@E? [What is called gravitational
attraction?]

(%) IS (SF7 IART QAR @6 @14 | [Write down the formula of
radial acceleration.]

() Ay TR oW AR INFER @G @19 | [What do you

mean by Gravitational attraction?]

g-feta
a3 @ el A fqre 37 w9g 20 OA FREEE IR @l O
FE | FAR TR T g@d Fwiz 0 [ zre IR @k 0 [
o FAR AT AN ANGNfes | I ofe fdfa F9 1 [A particle
moves in a straight line OA starting from rest at A and

moving with an acceleration which is always directed away
from O and varies as the distance from O. Find the motion. ]
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36 e (AFTHYS P 0T SR 1 =a” cosn® A A FA |

T 7@ (]9 9 | [A particle describe the curve r" =a” cosn6
under a force P to the pole. Find the law of force.]

¢ WGRME 03 ey oima BegT i n A eoed
ST | SR @S IS WEICN S QTS m WEH GEd O I

@ SR | A8 @ GHU TeT® M A 2 /31 | [An elastic
ng

string without weight of which the unstretched length is /
and modulus of elasticity is the weight of n ozs is attached to
the other. Show that the time of a vertical oscillation is

2n ml ]

ng
2a WY @3 ‘M’ SR B «3f% qEw wWed NgRkvad afve @R
SANATE Yy S [ 9 | [Find the moment of inertia of a

uniform rod of length 2a and mass M about a line

perpendicular to the rod at the middle point.]

Qg 9 @, T+V= LI, @MET T 8 V IYP&CY S Mo*e 8
©¥® | [Prove that T+ V =Constant, where k =kinetic

energy and V potential energy of the system. |
I Jg+\/%=1 GR TFRRE TGS (R OAEY W 9 |
a

[Find the centre of gravity of the area between the curve

\/g+\/%=1 and axes.]
a
a6 fEs (IR SorsE @il [qres e few fdy 37

[Prove that in every central orbit, the sectorial area traced out
by the radius vector to the centre of force increases
constantly.]

WRle (@, ATOJF (IS FHAL JOIRT (FAF FIF AW @ A |

[Find the momentum of the body about the fixed axis.]
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So | I ¥ A Rqre 3oy e A0 FTFAERl IARE @l &F A | S | y? = dax WHIE G TATHAS ¥ GR x F QA ARG CF@R Y
F1f5a g@d O A W3z @3 «fewd 0 ™ zre @Ha VRIS g (39 9 | [Find the centre of gravity of the area bounded by the
TAfes | B0 ife ¢ (eme@ w9 | [A particle moves in a parabola y* = 4ax its latus rectum and x -axis.|
straight line AO with acceleration which is always directed 5| h Twel g 20 @EREE GG T TN (@S I AL
towards O and varies inversely as the square of its distance AT T ACATE AR | (LIS (@, TS e (WA )

from O. If initially the particle was rest at A, find its motion

h 2 . .
and periodic time.] g(4+tan a) | [A solid homogenous cone of height h and

3 | m SARME GF6 FFIFA (P TR mn? (Fg) ICTE G vertical angle 2o, oscillates about a horizontal axis through
aefs e ey SfeTd SoeM @92 m /v (@) @9 ST @9 Y its vertex. Show that the length of the simple equivalent

AN S
4R B 93 oifS JAdiee 2 | @S, [EE @32 T (emeife ey

9 | [A particle of mass m moves in a straight line under a

pendulum is %(4 +tan® a).]

force mn® (distance) towards a fixed point in the straight line

and under a small resistance to its motion equal to m/v

(velocity). Find period amplitude and damped oscillation.]

3R | S HNE @36 e Boi fFarae gel sw @ wrera R
77 | I367 Afeotds swas TANead [Fdfw 9 | [A particle moves in a

plane with an acceleration which is always directed a fixed
point O in the plane. Find the differential equation of the

path.]

3O | M-GTTAG @9 0 AR qp ¥ Afeq Aqwae W 9 1 [From
D’Alembert’s principle derive the equation of motion of any
rigid body.]

38 | x=a(0@+sinh),y=a(l—-cosh) AFEC U7 A TP TST©
SR OREY W49 9 | [Find the position of the centroid of the
arc of the cycloid x=a(0+sin6),y =a(l-cos0) which lies in
first quadrant.]

S¢ | e IR CF@ aled ANFe [ 9 | [Determine Lagrange’s

equation for blows.]
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